### **Notice for appointment of Regular / Rural Retail Outlet Dealerships**

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in the Union Territory of Puducherry, as per following details



### **H2 FOR UT OF PUDUCHERRY**

### 2023 ADVERTISEMENT FOR SELECTION OF RO DEALERS

SRL NO	Name of Incation	Revenue District	Type of RO	Estimated monthly Sales Potential # (IN KL)	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). * in in Sq. Mts Mts Mts		Finance to be arranged by the applicant Rs. in Lakhs Rs. in Lakhs		Mode of Selection		Security Deposit Rs. in Lakhs	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural		SC / SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation of PO	Idavalanmant	Draw of Lots / Bidding		
1	MANAPET NOT ON NH	PUDUCHERRY	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
2	FROM KAMARAJ SALAI JUNCTION TO ANNA SALAI JUNCTION ON 45 FEET ROAD (VALLALAR SALAI) ON LHS	PUDUCHERRY	Regular	225	Open	DC	20	20	400	32	75	Draw of Lots	15	5
1 3	PONDY TOWN WITHIN PUDUCHERRY MUNICIPALITY (NOT ON NH)	PUDUCHERRY	Regular	200	OBC	СС	20	17	340	32	12	Bidding	30	4
1 /1	FROM THAVALAKUPPAM TO KIRUMAMPAKKAM ON NH ON LHS	PUDUCHERRY	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3



# IndianOil



### **H2 FOR UT OF PUDUCHERRY**

### 2023 ADVERTISEMENT FOR SELECTION OF RO DEALERS

FROM RG SQUARE TO KASTURIBAI NAGAR ROAD-	1		T	I		Ι	I		I	Ι	I	Ι	
5 VAZHUDAVUR ROAD JUNCTION ON VAZHUDAVUR ROAD ON LHS	PUDUCHERRY	Regular	210	Open	СС	20	17	340	32	12	Bidding	30	5
6 PONDY TOWN WITHIN OULGARET MUNICIPALITY (NOT ON NH)	PUDUCHERRY	Regular	200	Open	СС	20	17	340	32	12	Bidding	30	5
7 FROM MADAGADIPET TO THIRUBHUVANAI, ON NH ON LHS	PUDUCHERRY	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
8 ANNA SALAI ROAD, PUDUCHERRY MUNCIPALITY	PUDUCHERRY	Regular	170	sc	CFS	20	17	340	0	0	Draw of Lots	0	3
9 FROM ATHITHI HOTEL JN TO RAILWAY STATION ON MAHATMA GANDHI ROAD	PUDUCHERRY	Regular	200	Open	СС	20	17	340	32	12	Bidding	30	5
10 FROM RG SQUARE TO SHIVAJI STATUE ON LHS	PUDUCHERRY	Regular	200	Open	СС	25	20	500	32	12	Bidding	30	5
11 FROM METTUPALAYAM TO RG SQUARE ON LHS	PUDUCHERRY	Regular	170	OBC	DC	20	17	340	32	75	Draw of Lots	15	4
12 FROM SHIVAJI STATUE TO RG SQUARE ON LHS	PUDUCHERRY	Regular	200	Open	СС	25	20	500	32	12	Bidding	30	5
13 FROM THIRUBHUVANAI TO MADAGADIPET ON LHS	PUDUCHERRY	Regular	170	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
FROM GOVT PRESS JUNCTION (KOKKU PARK) TO AIRPORT ON AIRPORT ROAD	PUDUCHERRY	Regular	150	OBC	DC	20	17	340	32	75	Draw of Lots	15	4
15 FROM MARAPALLAM JUNCTION TO IG SQUARE ON LHS	PUDUCHERRY	Regular	150	Open CC-1	DC	35	35	1225	32	95	Draw of Lots	15	5
16 FROM VENKATASUBBA REDDIAR STATUE TO SUBBIAH STATUE ON MM SALAI ON LHS	PUDUCHERRY	Regular	200	Open	СС	20	17	340	32	12	Bidding	30	5
17 FROM MURUNGAPAKKAM TO ODIAMPET ON VILLIANUR ROAD	PUDUCHERRY	Regular	150	sc	CFS	20	17	340	0	0	Draw of Lots	0	3
18 FROM MOOLAKULAM TO METTUPALAYAM JUNCTION ON METTUPALAYAM-MOOLAKULAM ROAD	PUDUCHERRY	Regular	150	OBC	DC	20	17	340	32	75	Draw of Lots	15	4
19 KONNAKAVELI TO KEEZHAKASAKUDY ON NEW NH	KARAIKAL	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
20 FROM THIRUBHUVANAI TO MOOLAKULAM ON LHS ON NH	PUDUCHERRY	Regular	170	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
PROM METTUPALAYAM JUNCTION TO OSTERI LAKE ON VAZHUDAVUR ROAD IN PONDICHERRY DISTRICT	PUDUCHERRY	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
													-



## IndianOil



### **H2 FOR UT OF PUDUCHERRY**

### 2023 ADVERTISEMENT FOR SELECTION OF RO DEALERS

22	NEW VILLUPURAM TO NAGAPATTINAM BYE-PASS WITHIN VILLIANUR COMMUNE ON LHS	PUDUCHERRY	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
23	NEW ARUMPARTHAPURAM BYE PASS ROAD BETWEEN ARUMPARTHAPURAM AND RTO FLYOVER	PUDUCHERRY	Regular	150	Open	DC	30	20	600	32	75	Draw of Lots	15	5
24	THAVALAKUPPAM TO POORNANKUPPAM (NOT ON NH)	PUDUCHERRY	Regular	100	Open CC-2	DC	20	17	340	32	55	Draw of Lots	15	5
25	FROM SUBBIAH STATUE TO ANNA STATUE ON LHS	PUDUCHERRY	Regular	180	OBC CC-1	DC	20	17	340	32	75	Draw of Lots	15	4
26	KOTTAKUPPAM TO KALAPET ON ECR ON LHS	PUDUCHERRY	Regular	150	SC CC-1	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	FROM GOVT PRESS JUNCTION (KOKKU PARK) TO SHIVAJI STATUE ON OLD KARUVADIKUPPAM ROAD	PUDUCHERRY	Regular	150	Open	DC	20	17	340	32	75	Draw of Lots	15	5
28	FROM ODIYAMPET TO VILLIANUR ON VILLIANUR ROAD	PUDUCHERRY	Regular	150	Open	DC	20	17	340	32	75	Draw of Lots	15	5
29	NEW NAGAPATTINAM TO VILLUPURAM BYE-PASS ON LHS WITHIN VILLIANUR COMMUNE	PUDUCHERRY	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
30	KARAIKAL WESTERN BYEPASS ROAD	KARAIKAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	ON KRISHNA NAGAR MAIN ROAD, OULGARET MUNICIPALITY	PUDUCHERRY	Regular	150	Open	DC	20	17	340	32	75	Draw of Lots	15	5
32	UPPALAM ROAD, PUDUCHERRY MUNCIPALITY	PUDUCHERRY	Regular	150	Open	DC	20	17	340	32	75	Draw of Lots	15	5
33	VILLIANUR (NOT ON NH/SH)	PUDUCHERRY	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
34	NEW NAGAPATTINAM TO VILLUPURAM BYE-PASS ON LHS (WITHIN 1.5KM FROM PONDY STATE LIMIT ON THE BYE-PASS IN BAHOUR COMMUNE)	PUDUCHERRY	Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5
35	PANAYADIKUPPAM	PUDUCHERRY	Regular	100	SC	CFS	20	17	340	0	0	Draw of Lots	0	3
36	VILLUPURAM - NEW NAGAPATTINAM BYE-PASS ON LHS WITHIN BAHOUR COMMUNE	PUDUCHERRY	Regular	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
37	FROM RG SQUARE TO JIPMER HOSPITAL WITHIN PONDY LIMITS ON SERVICE LANE	PUDUCHERRY	Regular	200	OBC	DC	20	17	340	32	75	Draw of Lots	15	4
38	KARAIKAL NEW RTO OFFICE TO PULIYANKOTTAI SALAI	KARAIKAL	Regular	100	Open CC-1	DC	30	30	900	32	55	Draw of Lots	15	5
39	SANAYASIKUPPAM	PUDUCHERRY	Regular	100	SC	CFS	20	17	340	0	0	Draw of Lots	0	3
				-	-						-	-		



#### **H2 FOR UT OF PUDUCHERRY**

#### 2023 ADVERTISEMENT FOR SELECTION OF RO DEALERS

40	AMBAGARATHUR ON SH	KARAIKAL	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
41	KODATHUR, BETWEEN MUTTARAMPATTU TO THIRUKANUR ON VILLUPURAM -PONDY ROAD ON LHS	PUDUCHERRY	Regular	120	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
42	MANGALAM PARKING YARD TO URUVAIYUR	PUDUCHERRY	Regular	100	Open	DC	20	17	340	32	55	Draw of Lots	15	5
43	KARAIKAL BUSSTAND TO THALATHERU ON NH	KARAIKAL	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
44	TR PATTINAM TO PONDICHERRY POWER CORPORATION	KARAIKAL	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation **Website (www.iocl.com/ www.petrolpumpdealerchayan.in)** and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000		CFS	SC/ST	2500
ROs	CC	OBC	5000	Rural ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **15** years and renewable every **01** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Divi Offi	isional ice	Address	Phone No	For Districts.
T	richy	Trichy Divisional Office, Triveni, 3rd floor, No.B-35, Shastri Road, Thillai Nagar, Trichy - 620 018	0431- 2742011 / 2742066	Puducherry, Karaikal